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 I
Set x utU cut以

3 9 utv 28 0
u3 3u讠 3UŪ v3 9 utv 28 0
u年03 3 un ut V 9cutU 28 0

uh 3 u v 3u v 9 28 0

Sincewe want toget rid ofthemiddle term So wedemandit is 0

3UU 9 0 u v 3

then u3 v3 28 so u3and Pare two numberswhose sum is9
and product is27 Hencethey are bothsolutionsofthequadraticequal

X 28X 27 0 then X 1 X 27
Hence u3 1 v3 27 weget u 1 以3
So one solution is ㄨ u 0 4

Theother two roots are tin 1 tf 3 ire 2 i

1 3 Ǘrt亟 2垢 i

2
Set x UtU utUR30 utv 133 0

u3 3u讠 3UŪ v330 utv 133 0
u礼3 3 uuut 以30cutU 133 0

u礼3 u v 3u v 30 133 0
Sincewe want toget rid ofthemiddle term So wedemandit is 0

3UU 30 0 U Ut 0

then u3 v3 133 so u3and Pare two numberswhose sum is9
and product is1000Hencethey are bothsolutionsofthequadraticequā



X 133X 1000 0 then X 8 X 125
Hence u3 8 v3 125 weget orz 让 5

So one solution is ㄨ u U 7
Theother two roots are tīinz

1后 i 5 2 2唘551⼀边 丣i

2 5 22后2525巧㽼 _i i2

3
Set x u U utvipcutv q 0

u3 3u讠 3UU2 v3 Pluto q 0

u年03 3 uuutv pcu tu q 0

u红了⼗ u v 3uvtp q 0

Sincewe want toget rid ofthemiddle term So wedemandit is 0

3UUp 0 uv

then u3 0 q so u3and Pare two numberswhose sum is 9
and product is函Hencethey are bothsolutionsofthequadratic

equatXthxt.io
then y 奩 4.1𤏁 红 ⾬4th

2 2

Hence ujac jq T.IT2 2

3

So one solution is xutvat tfq T.gg2 2



3 tree 5
Theother two roots are t fqt4_iifq T4si

2 2

d jat j T
24fi j theny Xtl.X y

l.Phgin.cyD3 3ly D2 5 y 1 1 0

y
3 35 3y 1 1到

2 6g 3 5y 105 0

g
3
y 103 0 so wefind a reduced cubic


